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101 2 1.6 | % (H s ) 2 2 2 9.6 9.6
102 2 2 2 2 2 10 10
ER/IQ- S
103 2 1.6 2 2 2 9.6 9.6
)
T F R
104 2 0.8 |5~ fl&e 1.5 1.8 2 8.1 8.1
H i
105 2 1.6 |Ag(Bi+) 2 2 2 9.6 9.6
Flge (4
106 2 1.2 [#)~ Mg 1.8 2 1.8 8.8 8.8
3 4 )
107 2 2 2 2 2 10 10
108 2 2 2 2 2 10 10
109 2 2 2 1 1.5 8.5 8.5
110 2 1.6 | %% (%) 2 2 2 9.6 9.6
111 2 1.6 | A3g(s) 2 2 2 9.6 9.6
112 2 2 2 1.8 1.8 9.6 9.6
B (FHA
113 2 1.6 ) 1.5 2 2 9.1 9.1
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pea | 24 24 | Aagage | 24 | 24 | 24 22 1 {on
200 | 2 | 1.6 {f)”’(ﬂ 1.5 | 1.5 | 1 |76 7.6
202 | 2 2 2 2 2 | 10 10
203 | 2 2 2 2 2 | 10 10
204 | 2 2 2 | 1.8 | 2 |98 9.8
205 | 2 2 2 2 2 | 10 10
206 | 2 2 2 2 2 | 10 10
207 | 2 2 2 | 15| 15 | 9 9
208 | 2 2 2 | 05| 0.5 | T T
200 | 2 2 2 2 2 | 10 10
210 | 2 2 2 2 2 | 10 10
211 | 2 2 2 2 2 | 10 10
212 | 2 2 2 2 2 | 10 10
213 | 2 2 2 2 2 | 10 10
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301 2 2 2 1.5 2 9.9 9.9
302 2 2 2 2 2 10 10
303 2 2 2 1.8 2 9.8 9.8
304 2 1.6 |[F#5(erine ) 2 1.8 2 9.4 9.4
305 2 2 2 2 2 10 10
306 2 2 2 2 2 10 10
307 2 2 2 1.8 2 9.8 9.8
308 2 2 2 2 2 10 10
309 2 2 2 2 2 10 10
310 2 2 2 2 2 10 10
311 2 2 2 1.5 2 9.9 9.9
312 2 2 2 1.8 2 9.8 9.8
313 2 2 2 2 2 10 10
314 2 2 2 1.5 2 9.9 9.9
315 2 2 2 2 2 10 10
316 2 2 2 1.5 2 9.9 9.9
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401 2 1.6 [fi=e (Hi ) 2 1.8 2 9.4 9.4

402 2 1.6 | #&(fl&e) 2 2 2 9.6 9.6
A (e

03 | 2 | L2 |Lndl 2 [ 18| 2 |9 9

404 2 1.6 [fi=es (Hi ) 2 1.8 1.8 9.2 9.2

405 2 2 2 1.8 2 9.8 9.8

406 2 1.6 | #& (FHi) 2 1.8 1.8 9.2 9.2

501 2 1.6 [Azg(qi=s) 2 2 2 9.6 9.6

502 2 1.6 |f1& e (A5) 2 1.8 2 9.4 9.4

503 2 1.6 | % (F+HH0) 2 1.8 1.8 9.2 9.2

504 2 1.6 | 2w (flze) 2 1.8 2 9.4 9.4

505 2 1.6 | 2w (f1&s) 2 1 1 7.6 7.6

506 2 1.6 | &% (f1&e) 2 1.8 2 9.4 9.4
Fag(d e )

601 2 1.2 SRS ) 2 1 1.8 8 8

602 2 2 2 1.8 1.8 9.6 9.6
HE(H e B

603 2 1.6 2 5) 2 1.8 2 9.4 9.4
Faig(dw)

604 2 1.2 G 2 1 1 1.2 1.2

605 2 2 2 1.8 2 9.8 9.8
B () ~

606 2 1.2 (%) 2 0.5 0.5 6.2 6. 2




